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Section A: Multiple Choice (10 Marl_{gl

Circle the correct ansyer

Allow about 15 minutes for this section.

2016 |
STUDENT NAME:

SEMESTER 2 :

EXAMINATION TRACHER:.

General Instructions
* Reading time — 5 minutes

«  Working time — 1.5 hours

 Answer all parts in this booklet

8" NOVEMBER 2016 *  All necessary working st be shown

s All diagrams are not to scale

+ Wiite using blue/black pen

¢ Calculators are allowed

1 Whatis the total value of $950{ invested at 4% compounded annually for 7 years?

(A) $2660 (B) $12501.35 (©) $3001.35 (D) $12160

2 Whatis (2x+3)(x~5) in expanded form?
. B oy 2L~ 1T

(A} 2x* +7x -5 (B) 2*~13x-15 (O} 2x"-15 (D). 2" -7x-15

3 What is the y-intercept of 4x+y—-7=07

@ 4 ® 7 © -4 o™ =7

4 Whatis 5a°—~(34)" in simplest fopfi?

(A) 2a ®) 4 © 2 ©) 4a

MATHEMATICS

YEAR 9

S'l}&GE 53 A, Multiple Choice 10
B. Number & Algebra -/52
C. Measurement & Geometry 123
D.  Statistics & Probability /15

Total

1/100




Kincoppal-Rose Bay, School of the Sacred Heart

?;;Eﬁﬁ;;;{.gsﬁ{&e,i PE“-‘;“:M"‘;[; 20186 . i Year9 5.3 Mathcmatics Semester 2 Examination 2016
Circle the'corvect answer ] Séction B: Number & AiEebra (52 Marks)
Show all necessary working, Marks
., 3 .
6  What is the solution to the equation —7£+ 4=107 1. | Solve the following equations:
v
(@) 2x+11=45 1
. 98 M . .
& p= () pr=22 ©) p=14 D) p=42
1
7 Whatis (94°5°)? in simplest form? .
(AY 3ab’ @B 9a2'p" {C) 3ap" @ Yab®
4 {b) a4 2
8 If sinf = rE what 1s the value of & fo the nearest degreeg -
(A) 45° (B) 13° © s53° o) 28°
9 Which of the following is 13 4876 in scientific notation correct to three significant figures?
(A L34x10° (BY 135 @) 135%10° ®) r3sxic?
(©) 32m+D+Tm=29 3
10  What is the surface area of a cube with side length 4 em?
(" 16em? (R 24 em® (c) 64 cm® (0) 96 em?
End of Multiple Choice Section
_
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2.

The length of a rectangular swimming pool is five times its width,

(i) Write an expression for the perimeter of the swimming pool,

_(3i) Ifthe perimeter is 240 m, find the length and width of the swimming pool.
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T4

Milly works as a waitress three nights 2 week. She is paid at the normal rate of $21 up
to 9.00pm and at time-and-a-half per hour after that, If Milly works 5pm — 9pm on
Thursday and Friday, and Spm — 11pm on Saturday, what is her total pay for the
week?

3

Solve the following inequalifies:

(W 1-3x>-8  _ _ .

o 72,

An author receives a $1500 retainer plus 8% royalty on sales per month. What would
his income be for a month in which he sold $6000 worth of books?

Jack earns $48 for every 1000 leaflets he delivers, What would he earn for delivering
3500 leaflets?
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7.

Simplify the following:

of2)

4’ x3y°

®) by
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A cardboard box is (1 13 om in length and (sv3 ~2)em wide.

Determine the perimeter of the cardboard box in simplified form.

"9, | Bxpress the following with positive indices.
(a) 3'.{—2 yﬁ Z—l . ,
-2
5a*,
® ( 5 ]
10, | A line has a gradient of -2 and passes through the points (4,%) and €0,7).

Find the value of k.




Kincoppal-Ross Bay, School of the Sacred Heart
Year 953 Mfathemaﬁm Semester 2 Bxamination 2016

11,

For the linear relationship y=-2x—6:

6] State the gradient,

(i)  Find the x- and y-intercepts.

[y

(iii)  Graph the line on the Carfesian plane below, clearly labelling the
intercepis.
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12.

Write the equation of a line that has only one intercept.

13.

Determine the equation of the line that has a gradient of 10 and passes through the

point (%,47) . Leave your apsweriny =mx+5 form,

14.

Find the midpoint of the line segment in the diagram below.
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15. | Bxpand and simplify: A Lo P Tetlz 4 - a
Full jsmlpllfy —-E—uxﬂ
@ (x-8)x+7) 1 -
P
) Qa-D2a+1) 1
!

2

© (5+3p)-

18. | The trizngle below has a base length of (2x+5) cm and a perpendicular height of

(2x—1) am. Prove that the area of the triangle is 227 +4x—~§ .

16, | Factorise:

(a) ' —w-20 1

-
A
B
+
Lh
Y

(b) 4m™—25 .

(©) 27 —11y+9 " . 2
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Section C: Measurement & Geometry {23 Marks)

Show all necessary working

| Marks

1. | Por the triangular prism below,

NOT TO
SCALE

5 em
10 cm

12 cm

(i) Calculate the total surface area.

S —

(ii)  Find the volume,

Kincoppal-Rasa Bay, School of the S2cred Heart
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=
2, | The diagram shows a circle drawn inside a square. The circle has a radius of 6 cm. 3
The square has a side of length 12 cm. Calculate the shaded area. Give your answer
correct to 1 decimal place.
+
NOTTO
SCALE
12cm
L
i
Ty
4. | Find the value of x correct to 1 decimal place. ( \_2/
48° 22 kim NOT TO
xkm SCALE
|
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z + . - -
5. . | Find the value of @ correct to the nearest minute. / 9. | Theo leaves his campsite to go for a hike. He walks § km nortfy, then tums and
walks 6 km west fo a lake.
8.5 m NOTF TO ()] Draw a diagram to represent Theo’s journey, include all relevant
SCALE ; information. -
7
12m

An airplane climbs at an angle of elevation of 1[° to an altitude of 600 m,

(ify  How faris Theo from the campsite?
(i)  Compilete the diagram by adding in the information given.

\l&__ /I/
\% NOT TO
' SCALE ’

i
(i)  Find the bearing of the campsite from the fake, correct to the nearest
) degree. D
(i)  Find the ground distance the plane has covered, correct to I decimal @ |
place,
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10,

Use the diagram below, BC=1.5cm, DE=9 cm and AB=2 cm,

E NOTTO
SCALE
9 em ¢
1.5cm
D B 2 om 4

@) Prove that A4BC and AADF-are similar triangles.
!

(ii}  Calculate the length of BD,

ELILLCUPPAITAU M 150 SV UL I DO Labeit
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Section D: Statistics & Probabitity (15 Marks)

Show All necessary working

Marks

1.

The number of points scored in each match by two teams are shown below. One of
the scores is missing,

Team L: 14320125 %, 18,11,23,9 0y 14 T4
Team2: 24,20,%5) 21, U, 1,49,24, 47,38 11,30

(03] Display these sets of data in a back-to-back stem-and-leaf plot.

Team 1 Team 2
Leaf - | Stem Leaf

(ii)  State the mode of Team 2.

(i)  Team 1’s highest score is missing, Determine this score if their range is

1%} -

(iv}  Which team’s results are positively skewed? Justify your answer.

19
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)

2. | The test resulis of two classes are summarised in the double box-and-whisker plot

below 3. Eight numbers have a mean of 15, Seven of the numbers are 6, 11, 8, 12, 16,23 and (\’y
' 20. Find the eighth number, : _
;
ClassA = F————- ) M
i
ClassB N

E 2 3 4 57 6 7 8 &% 1011 12 13 14 15 16 17 18 19 20

(a) State the overall minimum test score. . : @

-

(b) The range for Ciass A is 16, determine the range for Class B. @

*
1

(c) The interquartile range for Class B is 7, determine the interquartile range for @

Class A, ‘
{d} Overall, what percentage of students scored 10 or higher? /2/ . A .
- {&) Which class has more consistent results? Justify your answer. /2/

End of Examination
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